FR2844A15H

FLICYEZEREN

RIENDEERE (HF)

=

1FHE 525 ELRAAEHRERBERIEAZENTEITSHN
TWA#HAR2THOBENERERIZEY HRIF

BRI BEME, BRBECETLIFHRETOZE
EJA =1

TR REHEX

AHDEL

&R T E

ERGGTEMER 1., 2

ERER S RIER

< = < = < <
rAREAREAREAREARES
~ o o1 H W N

F5OKURH



BEE

X H 2

F P BRNEEATBHSTE43&E315
K & AUV YEF AXREEE Bl NS

&EtE

F P BEMHEHHRKD)|PRT —22-16—-—601
K & IAs=1LF-ILDT3vY #EE HE

it DB HE
NIBHEsXBAR_TE1E485

St ER

Mot X &

T4,

16 ¥EPA—FIL

hE X, BHEM TSRS X
FREBEEFAME. ENNKRS50/\-2Y K BER80/\—tY
F-EsEMX

FEEEMDOARE

T2 TE
B

T2 85

—PETIES. 5P

SZSEXRICHITDFHSORRE

128 78

12R228

1B25H

RETASIEMNE SIE

FAEAIROBHERTTINNBTHDIEE
FETBICOE

BRIHICEF

=g




&Hl2

BRI 55275

EiaiETT ] &G
A 2 ki
FRIT STV DR
2 T H O
SR BT D BRE

—TH1%48

i

N [X

BrAaBELELR
e

100 m
1:2,500




a5
L
! A
WL
TR 2l
e

RN

00TV gy :
OBHE
o
B

&3
65.294
265,35 \
\ 1-38
\ 1-10
7400 ,65.08 Bb:iﬁ,a;!jﬁ:ﬁ%f 5446
itﬁﬁ.SZj\f\ T F66.13
o «64.46
EP 81620 L -
TP S$—HARES1/1 65.45 kS [ES ES
HE30° EEI0° EE30°
[ Fh=66.60 ]
19-1 52
1-39
*66.88
*65.61
65.55 CBH=0.60
*
\'
) s
j F. 4l
©66.98 " tﬁ 64,55
< FH=66. 00 ¥ iy =
T : g S — FTERE
= T 6.0
s 2.70m |1 2/70m Il 2.70m " 3.
65 - 66.00 §
RAR 0 65.72 0.0 o N . -
06571 TP B=sEEnEs/ .72 THARRSE
EP @A T~y =1 ity e T
i o8 [ ro=®
K-2
1-44 £ it 747.16 i 100 %
§®25o 77777
&y, & & 47.16 ni 100 %
$g§1§,§l§ 5 ni
ﬁ%/ﬁg 5 4
i} ®/5p) -65.03 .01
KBM H=65. 699m
HEBERI
H&E 4 T 0 F A A E o
ERERE wR 1200 P FAiEkihig - F—EEBEEERAMKE  50/80
[}
F-REEHRE, REZHMI125m SNEEEEBUNS 1m




a5 4

540\

\&y

IR

— FEES
T

B & % AEE L O
P Gr| 150 | g oy | PERRCBCEEREESEEMS SO0 |
E-EEEHR, RESMI25m SNEZBERUM 1m




1)
=

B
EAAES

\© ?@“ﬁ;‘:
) (oot
\\ ﬁ‘a‘iwg
N 28
|

EP 620
TP SE—HARES1/1

@k

0

1

0%

ARe2
1-9
65.67 - 1-38
-
T@E
N o64.43 64,46
REELR A 65.08 \ ¢ ! T AL
+8 F66.32\| T®F66.13 T8 66,12
. : : uﬁ — ‘ — 26446
"qee 6 o672 o= s — 56.62 2 _ = —_ -
v +t . kS kS 66.53%
| K30 SKmE30° SRE30°
\ FH=66. 60 NJ75.35m2 %2
' N6t 26m7 7 1-39
opti=0, 67 22 66.78¢ Lf,_/
SSss ©66.93 *66.89 . ;
A N 2
FH=66. 60 gi
% m N 1om? 7 2
-1
:ﬁt 64.55
Z .
0 66.78
FH=66. 00 _ s
N3, 18m2 $ @ 5.0 |
6100 & i o y @7
2.70 2.[70m 2.70m i

KBM H=65. 699m
M EEEXM

&5

Rl

FTE

R i

L1 o+&nr

THFARS &
77777 | Al B %
£ 747.16 i 100 %
& F 747.16 mi 100 %

BE 4% ERETETER I3
aERE ®R 1200 P FAiEkihig - F—EEBEEERAMKE 50/80 i
FEREEHR, REHHM125m SNEEEEBUS 1m




& 6-1

HE MAR2EH R
ORO) i 2 =43 T4
£ £
66.87 66.90 FH=66- 6'\6690; ae.as; FH=66..60 6675
65.70 QE
64.52|
DL=63. 00
Wil #HA2ESH R E
@-© =it 1 T2 | T3 | T4 =5
FL I
g =]
£ 3 — X 15
66. 86 S 61,00 ___E_ £ lFH=66.60 £ 6678 n-l-l_”:ijz
w1 ° FH=66.00 | FH=66,002] 15 FH-66.10 66.08 e
DL=63.00 | 1 P&
R&E 4 & R &t E B -1 O
;  E—HER 0/80
R wr | 120 o % A E—EEREEEAME 50/8
E-BEENE. SERBI2SM SHAEEEEBEUMN 1 m




E¥l6-2

—_ — TEHARI65 6
@ @ Eir 3 Tt 4 E5 =
66. 11 66.63 FH=66.60_ ..l _FH=66--60 E, £6. 90 66.81
o i FH=66.10 . {66.00
s ]
64. 61
DL=63. 00
BB 3 i B iE WARI6SHR
@ —_ @ Eih 3
) E ALl
66.62 ... FH=66..60...66.938 | ,fl L — S——.CC
66. 12 x&%ﬁ;ﬁ 0 FH=66. 00 = ..|65. 85
:ﬁ:‘ = . 3
o T — FTERE
DL=63. 00 pte =
1 ot &rr
X & % 15 AR AT B B T B -2 o
RERE wR 1200 P Righig - E—EREEEFAME  50/80
]
E-HEsEMEK. REBMI26m ABREHEBEERUNS 1m




a7

RO
& = E 3 & = L ® &
a 26. 606 0.847 22. 5352820 11.2676410
b 26. 606 0.847 22. 5352820 11.2676410
& ¥ 22. 5352820
WO E W 225307
6]
E 5 E 2 R [ i1} b4
7 9.871 4.026 39. 7406460 19. 8703230
1 26,247 9.492 249. 1365240 124, 5682620
5 T O - 5 ) 17.374 1.379 23. 9587460 11.9793730
i < F 7.723 3.861 29. 8185030 14.9092515
*+ 34,537 1.328 45. 8651360 22. 9325680
5 34.537 3.624 125. 1620880 62. 5810440
* 17.265 1.881 32. 4754650 16.2377325
5 17.939 1.659 29. 7608010 14, 8804005
i 17.939 8.168 146. 5257520 73. 2628760
a B 361. 2218305
&% h @ R 361. 22m*
L EC)
5 E i3 '/ & @ W [} b d
1 9.001 1.976 17.7859760 8. 8929880
2 12.067 1.221 14.8062090 7. 4031045
3 6.360 2.314 14.7170400 7. 3585200
4 6.360 4.643 29. 5294800 14. 7647400
5 5.522 2.700 14.9094000 7. 4547000
6 9.746 3.614 35. 2220440 17.6110220
7 9.746 0.443 4.3174780 2.1587390
8 4.090 2.028 8. 2045200 4.1472600
9 1.217 1.801 20.2018170 10.1009085
10 1.217 1.862 20. 8860540 10. 4430270
B Bt 90. 3350090
&% E R 90. 33m*
YL EE 22.53+361.22+90.33=474.08m

5 & % I moE
U @R | 120 o x Rt H-EEREEEARY50/80
HEEHEME, BEHRI25m SEERERLA 1 m




